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FRAHLRLE T 22y (20)

AR 5 t
(TA77WMEE W)
W FEAHKIEET A3V (20)

AR 5 t
(TA77WMEE W)
FEERLEET A, (13)

AR 5 t
(TA77WMEE W)
W FAEBRIEET ATV (13)

HiEYME T = 1 2,243, 839
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B N ERE

THE4 | BT — 8K PUSHERSE 2 T (B 84EKE)

TSy - TR - A W fr % R & . .

Byt T =N 1 83,452 | Bl (0 =" v-1) 10 m
Gr-B-4E ;

B (07 b V=) 10 m
Gr-B-2B ;

Bt (7 —=b ~ 477) 10 m
LA

Bt (7 —=b ~ 477) 10 m
/))-MA M

BRI (BRI - SR8 B 1A fil = 10
3/))-bESA R b =h e e SRR FE3m

=

HEAT R E T 2V 1 53, 460 | fRARFEEIE 20
+ AR 30ALLE

TR R BT L 20
ay))-pMEIAR S0ARLLE ;

TR S AT L 20
MRS T 30ALL |

TR S AT L 20
RSB 30ARLLE ;

O

HEmEE L T Y 1 1,502,396 |av7)-MEdEEUE L 10 m3
IS AT

2y - MEIEW BEE L 20 m3
ARG IEY) BEhOE L

2y - MEIEW BEE L 10 m3
SRty ANk

2y - MEIEW IEE L 20 m3
ERAAEIEY) FEOE L

EEERR G 30 m
TAT7VMEEERR 15emPL T

EEERR G 30 m
TAT7VMEEEERR 15em% 8 2 30emPA T ;

EEERR G 30 m
/)= MlEERR 15emPA T

LiEIRCE 10 m2
A T 7A77 v MR EFEERE t =4cm ;

o
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T4y - T - flR] HOAL &

&
e&}
S
=z
=
iy

U

2

ELE IR A A 10 m2
AT T TA7 7V MEREERR Af2ERRUE 4<t=10cm

ElEERR I e 20 m2
BEMIE T 7A7 7V MAZERR &2 NE t=<15cm ;

LiE IR 20 m2
BEAIE T 7A7 7V MfZERR Sf2ERE 15<t=40cm

ELE IR A A 20 m2
FEMRE T 7A7 70 MEEERR 2SS 15<t =35cm
BEF IR B RN

HEmEE L T Y 1 50, 611 | &SRR G Wr 30 m
& TA77VMEFEERR 15emBA T

LiE IR 20 m2
M HEARBE T 72770 MEERR SRR t =< 15c

m;

ELE IR A A 20 m2
IR BEMRRE T 72770 MEEERR SR 15<t
=35cm BEEIRENGIRME

PEARE SIS T A 1 14,460 | ZhRitE 20 e
HRA#HE 40kg/MULT ;

EIR /6N 20 e
FR A 40kg & 48 2 170kg/ AL T

TEHR LB T = 1 539, 460 | FRIEMK 20 m3
avy) bk HERT) 10tRE#R B BEREL=10. 9k
mPA T

sre 20 m3
avy)-hik (BkA) 10tRE#L B EEREL=10. 9k
mPA T

sre 10 m3
TAT7 VbR 2tAERR B ERREEREL=11. OkmPA T

sre 10 m3
&M TA77 v 2tFERR R B E R FERFL=11. Okm
LLE
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LHFXSy - LfE - fljl A ¥ = & H A | N 3

R 10 m3
TAT7W N 10tFERR A iE i EEEEL=10. 5kmEL T

R 10 m3
&M TA77 v 10tk A iEE M EEEFL=10. Skm
A

LSy 20 m3
) -hik (&5

WXLy 20 m3
avy) bk (BkAR)

LSy 40 m3
TATT VNG

FRE T Y 1 3, 142, 599
—ARBRE T E2v 1 923,700 |BRE) V-4 20 R

77 V=h @3, Im FTE @R FHA

PR V-1 10 ]
77 V=N @3, Im FTE SR GRACEINE L) FRA

PR V-1 20 ]
77 U=bIES. I WEREISMEIE L FRA

PR V-1 10 ]
77 V-h g3, Im REREEAEE L FRA

BORERS IR T =X 1 545, 581 | WRERA LA 5 R

ORGP LR A A (5 -+ 28-2802) TV v T
v (&5) FTE SRR

RSB 1 EcAr 5 FE [
ORGP LR A A (5 -+ 28-2802) TV V)T T
v(E5E) FrESEREE GRIEEIE L) ;

RSB 1 EcAr 3 il
ORGP LR A A (5 -+ 28-2802) TV V)T
v (h) FERSEIE L

RSB 1 EcAr 5 il
RS B LE A (6 5+ 28-2802) TV V)T T
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THXSy - THE - R B fir % & & H ol 2 B

v(E5) RSV EE L

RSB 1 B 5 FE [
Ny (FRA) BRER IEAIECA S E (B S FrES
B RERE

RSB 1 B 5 FE [
Nyl (FRA) BRED IEAIEC S E (B S FrES
IR (RAEIE L)

RSB 1 B 3 FE [
Ny (FRA) BRER IEAIEC S (RS RefEioh
EHEL

RSB 1 B 5 FE [
Nys (FRIA) BORSBG LA G E (B S R
A EIE L

ESSERCSEINN Y 1 728, 453 | B & A 5 PR

AN Y (FFIA) PTE S s

EPERGK S| 5 FE [
AN Y (FFIA) PTE F B (REEEE L)

EPERGK S| 3 FE [
AN Y (FRiA) BEREISMVEIE L

EPERGK S| 5 FE [
AN Y (FRA) RIFESM R L

8 BB 5 7 [
BORERA 1A B (5. 28-2802) 747 V0775
v (&5) FTE S R

8 BB 5 7 [
BORERA 1A B (B 5. 28-2802) 747 V775
v (E5E) FTESEREE GRIEEIE L) ;

8 B[ 3 7 [
BORERA 1A B (5. 28-2802) 747 V0775
v (h) FERSEIE L

8 B[ 5 7 [
BORER 1A B (5. 28-2802) 747 V0775
v () RERERESMVEE L

=5 E B UK ] 5 7 [
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HEfERE)
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(ST 3. ¢

5 REfH
5 REfH
WEIFER)
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Frr Y
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FITE 57 B RF I
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(A E)

AT F5 B
FEHE Ty
(A E)
FTRE 5 B e ] (R B L)
FRHEEY

(A E)

Rl EIE Lo

FRHE Y
(A E)

R A EE L
580, 250 |IinAfEZ

HEfERE)

HF[H]

HF[H]

HF[H]

HF[H]

HF[H]

IV =Y(EES

EEEHR)
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IV =Y(EES

(— M iEHRF)
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THRX Sy « Lff - fi5 Bz ¥ = & Hm a1l N 7
FGan Y 1 1, 460, 100
A EE T Y 1 1,460, 100 |Z5@EEELEH B 1 =
A
B
RIBTH G B 1 2V
(B)
B
RIBTH G B 1 2V
A
I
RIBTH G B 1 2V
(B)
wIHE
RS 2V 1 43, 359, 821
st = 1 4,102, 400
o Y 1 221, 400
TR 2V 1 162, 600 | a5 HEAR E ik 2y 1 E
Bl B2 By 1 58, 800 | &M i 2R Ha AT —HERLE 1 EN
Il (it L) Y 1 3, 881, 000
il T Y 1 47, 462, 221
Bl H e 2V 1 22,377, 000
T =5 Y 1 69, 839, 221
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